İKT238 Statistics 2

Sample Midterm Exam Questions

Onur ÖZSOY
Circle the best answer.

1. A study was done to compare the lung capacity of coal miners to the lung capacity of farm workers. The researcher studied 200 workers of each type. Other factors that might affect lung capacity are smoking habits and exercise habits. The smoking habits of the two worker types are similar, but the coal miners generally exercise less than the farm workers. Which of the following is the explanatory (independent) variable in this study?

a) Exercise

b) Lung capacity

c) Smoking or not

d) Occupation

2. In question one which of the following is the dependent variable?

a) Exercise

b) Lung capacity

c) Smoking or not

d) Occupation
3. What is one of the distinctions between a population parameter and a sample statistic?

a) A population parameter is only based on conceptual measurements, but a sample statistic is based on a combination of real and conceptual measurements.

b) A sample statistic changes each time you try to measure it, but a population parameter remains fixed.

c) A population parameter changes each time you try to measure it, but a sample statistic remains fixed across samples.

d) The true value of a sample statistic can never be known but the true value of a population parameter can be known.

4. A magazine printed a survey in its monthly issue and asked readers to fill it out and send it in. Over 1000 readers did so. This type of sample is called

a) a cluster sample.

b) a self-selected sample.

c) a stratified sample.

d) a simple random sample.

5. Which of the following would be most likely to produce selection bias in a survey?

a) Using questions with biased wording.

b) Only receiving responses from half of the people in the sample.

c) Conducting interviews by telephone instead of in person.

d) Using a random sample of students at a university to estimate the proportion of people who think the legal drinking age should be lowered.

6. Which one of the following variables is not categorical?

a) Age of a person.

b) Gender of a person: male or female.

c) Choice on a test item: true or false.

d) Marital status of a person (single, married, divorced, other)
7. Which one of these statistics is unaffected by outliers?

a) Mean

b) Interquartile range

c) Standard deviation

d) Range

8. Weights of five students in Quantitative Methods class are: 70, 64, 80, 74, 92. What is the median for this list?

a) 74

b) 76

c) 77

d) 80

9. Which of the following would indicate that a dataset is not bell-shaped?

a) The range is equal to 5 standard deviations.

b) The range is larger than the interquartile range.

c) The mean is much smaller than the median.

d) There are no outliers.

10. A scatter plot of number of teachers and number of people with college degrees for cities in Cyprus reveals a positive association. The most likely explanation for this positive association is:

a) Teachers encourage people to get college degrees, so an increase in the number of teachers is causing an increase in the number of people with college degrees.

b) Larger cities tend to have both more teachers and more people with college degrees, so the association is explained by a third variable, the size of the city.

c) Teaching is a common profession for people with college degrees, so an increase in the number of people with college degrees causes an increase in the number of teachers.

d) Cities with higher incomes tend to have more teachers and more people going to college, so income is a confounding variable, making causation between number of teachers and number of people with college degrees difficult to prove.

11. The value of a correlation is reported by a researcher to be r = −0.5. Which of the following statements is correct?

a) The x-variable explains 25% of the variability in the y-variable.

b) The x-variable explains −25% of the variability in the y-variable.

c) The x-variable explains 50% of the variability in the y-variable.

d) The x-variable explains −50% of the variability in the y-variable.

12. What is the effect of an outlier on the value of a correlation coefficient?

a) An outlier will always decrease a correlation coefficient.

b) An outlier will always increase a correlation coefficient.

c) An outlier might either decrease or increase a correlation coefficient, depending on where it is in relation to the other points.

d) An outlier will have no effect on a correlation coefficient.

Questions 24 to 26: The following histogram shows the distribution of the difference between
the actual and “ideal” weights for 119 female students. Notice that percent is given on the

vertical axis. Ideal weights are responses to the question “What is your ideal weight”? The

difference = actual −ideal.
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13. What is the approximate shape of the distribution?

a) Nearly symmetric.

b) Skewed to the left.

c) Skewed to the right.

d) Bimodal (has more than one peak).

14. The median of the distribution is approximately

a) −10 pounds.

b) 10 pounds.

c) 30 pounds.

d) 50 pounds.

15. Statistics is the science of conducting studies to

a) solve a system of equations.

b) hypothesize, experiment, and form conclusions.

c) collect, organize, summarize, analyze, and draw conclusions from data.

d) monitor, study, and report on a subject.

16. What is the term for a characteristic or attribute that can assume different values?

a) Datum

b) Variable

c) Exponent

d) Sample

17. Variables with values that are determined by chance are called

a) specialized.

b) random variables.

c) erratic variables.

d) inconsistent variables.

18. Which branch of statistics would employ probability to predict how many miles one would be able to drive a 2009 Honda Accord during its lifetime?

a) predictive statistics

b) inferential statistics

c) descriptive statistics

d) differential statistics

19. Which branch of statistics would buy a hundred Hondas, drive them into the ground, record the final mileage, and then write a report for Car and Driver?

a) predictive statistics

b) inferential statistics

c) descriptive statistics

d) differential statistics

20. A ______________ consists of all subjects that are being studied.

21. The amount of time needed to run the Avrasya marathon is an example of which type of variable?

a) Discrete

b) Qualitative

c) Continuous

d) none of the above
22. What level of measurement would be applied when doing a survey on the average Turkish shoe size

23. What level of measurement possesses all the characteristics of interval measurement, and there exists a true zero?
a) Nominal

b) Ordinal

c) İnterval

d) Ratio
24. Which of the following is the correct mean for the given data? 7, 8, 13, 9, 10, 11
a) 10
b) 9.7
c) 9.67
d) 9
25. What type of graph is the figure below?
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a) Pareto chart
b) Pictograph
c) Ogive
d) pie graph
